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Difference between “no”
and “xorsa”

In the Russian language, the conjunction Ho is used to show direct opposition between

phenomena or qualities.

OH MaJIo YnTaeT, Ha ynuiie Houb, A He M100JIF0 MOMUIOPBI,
HO MHOTI'O IUIIIET. HO Maina eIé He CIIUT —  HO JIFOOJIK0 TOMATHBIN
OHA I'OTOBUTCA COK.
K DK3aMEHY.
He does not read much, It is night time, but Maria I don’t like tomatoes, but I love
but he writes a lot. does not sleep — she prepares tomato juice.

for the exam.

XoTs is used to show there is some opposition between an action and its necessary

condition.

XOTs 1 ¥ JTF0OJII0 XOTsI OHAa MHOTO €CT, Xors [1€Tp 1 HE ymeer
TOMAaTHBIN COK, OHAa HUKOTI'Ja HC ITOJIHCCT. IJ1aBaTb, OH JIFOOUT

HO COBCEM HE€ JIF00III0 Mope.

IIOMU/JIOPHI.

Although I love tomato juice, Although she eats a lot, she never Although Petr can not swim,

I don’t like tomatoes at all. puts on weight. he likes the seaside.

Table: Difference between “uo” and “xors’

Ho Xortst (HO)

simple opposition negative condition

B nepeBHe Xopolmi KJIMMar, XoTs OHA JIFOOUT JEPEBHIO, HO KUTh

HO HET MEPCIEeKTUBHON PadOTHI. MPEANOYUTAET B TOPOJIE.

51 3Ha10 TBOM CEKPET, HO HUKOMY HE CKaXYy. XoTs s mpocuia Tedst Mo4arh, Thl pacckaszaia

BCEM MOM CekpeT!



